1. Given below are two statements, one is
labelled as Assertion (A) and other as
Reason (R) : '

)ssertion (A) : The Mughal Empire was
originally a Military State.
Reason (R): The vitality of the development

70 of the Central Government System
depended on its military power.

Select the correct answer using the codes

given below.

Codes :

(a) Both (A) and (R) are true and (R) is

correct explanation of (A)
(b) Both (A) and (R) are true, but (R) is
t the correct explanation of (A)

\P/Z\D) is true, but (R) is false

d) (A) is false, but (R) is true

Which of the following Islands is NOT
located in the Caribbean Sea ?

(a) Grenada (b) Montserrat

(c) Madeira (d) Anguilla P

- Which of the following Institution / Office

bring out the Wholesale Price | /(\
data in India ¥

(a) The Reserve Bank of India

(b) The Ministry of Commerce and
Industry

(c) The Ministry of Finance ¢

(d) The Ministry of Consumer Affairs,
Food and Public Distribution

he Nati Disaster Mapa ement
Division in India is the dodal division
in the Ministry of Home) Affairs for
disaster management) Who is the
Ex-officio Chairmanof the National
Disaster-Management- Authority ?
(a) Fhe Prime Minister

) The\Home Minister
¥ {c) The'Dgfence Minister
1d) The Hea ﬂ]ﬁ.ﬁn;'f;l' amily Welfare Minister
A

ar Pr, ‘H—é’gﬁé

4. The National D

G‘Qvernment declared in
22 to ﬁrovide tablet for
er which of the following

Minister Abhyudaya Yojna
(b) Chief Minister Rozgar Yojna
(c) Chief Minister Balseva Yojna
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(c) FEwA STeEn A
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- (d) Chief Minister Education Yojna

Il

(d) Feawft faven T



6. Which one of
coco producer cou nt‘g;rg: ip/IY e maor

(a) Latvia »

\(S)/Ghana

T gflhlch _(r)f the following Articles of
e Indian Constitution is related to
Lontingency Fund ?
(a) Article 265 (b] Article 266
}}Artlcle 267 (d) Article 268

8. What is the theme of World Youth Skills

-(b) Cameroon
(d) Ivory Coast

Day, 2021 ?
(a) Young People and Skills
(b) Skills Development and

Employment
(c) Young People and Entrepreneurship

_(Q/Reimagining Youth Skills Post
Pandemic

@At the time of second wave of

COVID-19 Pandemic, which institute

had demonstrated the conversion of
nitrogen generator into oXygen genctc T

(a) 1ISc, Bengaluru ¥
(b) IIT, Bombay
(c) IIT, Madras
(d) 1IT, Kanpur

e following causes i3
nfall during winters
t of India ?

Which one of the
responsible for rai
in north-western par

(a) Retreating Monsoon
(b) Cyclonic depression {2
Western disturbances [ “

(d) South-West Monsoon \ W

10.

11, Flyash pollution is gaused by

e Ol e fiTiing
(b) Fertilizer induptry

4".5 ) E:‘}ig) t‘MSHJngfr /'V é"l{‘

i ~~1 1.\ R d

1t sradesh|Swami Vivekanan

12; Uftar'ﬁPpagafég’Yatra Yojna 2021’ was
2 the U,P, Government for

ptina
i tlrogu ;Ey the 1
following people for religious

which e

travel ?
Elderly

(c) Widows

(b) Women
(d) Labourers

1.0.

1615

125
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freferfiad § & -8 U Hiehl Bl TG IA1CH

CRU

(a) ST (b) HHEA

(c) T (d) 3mgatt HE
Frefeifiad # @ wRda T i HH-H ST
arrRfaea fAftr § grarfd @ ¢

(a) 333 265 [ (b) ST 266

(c) =82 262  (d) afeda 268
farga 1 et e, 2021 1 fawa (theme)
R 7

(a) T g TS feheH
(b)ﬁ:zwaaaraqﬁzqvgqmﬁﬁz
(c)ﬁndﬁwmnrgmwﬁﬁ‘m
(d)ﬂsﬁﬁﬁnu@mqﬁz&%ﬁﬁs

ifore. 10 TRT hl e T 3 T [ FET

3 TR ) AT e i de

yefhy At ?

(o) Wi forT HEAH, FATeqE
() rdas A, s

(c) 3371321, HGrH

(d) 378,378 &., HEL

ﬁﬂ%ff@ﬁﬁﬁaﬁa-mmm%m—vﬁm
mﬁsﬁaa@ﬁ?ﬁaﬁaﬂﬁmaﬂm%?
(a) ATET I AT

(b) TEhaTdIE AT

(c)Q‘f?vIrﬁﬁ&:ﬁ‘?

(d) gftur-afyem A

TSR WGV Bl &
(a)ﬂ?f‘«’ﬁﬂﬂﬁ
(b) IR e |
(C)Wﬁgﬂﬁﬁﬂﬁ
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. Which one of the following reflects back
more sunlight as compm
three ?

(a) Sand Desert
(b) Paddy crop land

and covered with fresh snow
(d) Prairie land

14. In which one of the following cities

country’s first Indian Institute of Skills
was establishe I

(a) Ahmedabad
_c¥Rohtak

(b) Mumbai
(d) Kanpur

@ The winner of the women’s single title at
the French Open Tennis Tournament,
2021, Barbora Krejcikova is from which
of the following countries ?

\Lzﬂ/ Czech Republic (b) Serbia
(c) Croatia (d) Spain

Who among the following person said
for the Fundamental Rights “a pledge to

our people and a pact with the civilized |

world” ?
{A Pt. Jawahar Lal Nehru
(b) Dr. Bhim Rao Ambedkar
(c) Dr. Rajendra Prasad
(d) Dr. S. Radha Krishnan
17. Riboflavin deficiency causes which.of the
following diseases ?
(a) Pellagra (b) Scurvy
‘(g)/ Cheilosis

s<f Beri Beri
@ In' which State of India is the Harappan
Civilization site_h%i,mtuated 2
(a) Gujarat ) ‘Haryana
(c) Rajastharl (d) Uttar Pradesh
19.”Whichof the following is NOT mosquito

borne disease/? '
(a)-Dengue fever Jb«)/ Filariasis

(e}, Sleepinig sickness (d) Malaria

Whicl’ of thiesfollowing State has the
i lnqh ensity of population as per the
Census of 201

(a) Himachal Pradesh
runachal Pradesh

(c) West Bengal
(d) Mizoram

13.

14.

15.

16.

T

18.

19,

20.
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Freferfiaa # & B 3= fH F qerr d g

g ) Yot Tafda e & 7

(a) T &1 e

(b) T T Tt T

(c) AT o | @ehl uf

(d) Darft gty (Fmefiar)

frfrfad Tt & ® fFa T ® <@ F YEH
yredig e geur wnfia fepan mn ?

(a) STEHEETG (b) g%

(c) W& (d) HER

e g of gafie, 2021 i Afgen T
figara @1 fasiar, aREN shafdehial FEfaRad
HAfrE AR ?

(@) I TURTH (b) @fern

(c) shTaf¥E (d) =

frfifaa ¥ & g safaa 3 ga afsr it 78R
SN o1 sk i qen =1 f&ava & @y fwn

(T gwEhar e o ?

(4) TTvEa STETEt ATel 48&

(b) &f. i sreergat

(c) =T. TSI 9618

(d) 7. TH. THTHDH

eI 6t it & = 3 | $a-a i
B 7

(a) Yerm (b) &=l

(c) o < (d) et

ESWT HICT h1 TS HIVE!, WRA & frg 12 |
feme ?

(@) eI (b) sR@mm

(c) TSTEH (d) ST W |
frvrferfian & & BT A TR e TR 7
(a) ST o (b) wIECETRE

(c) g () Feifea

2011 ) T 3 FTET o T 1 SHEE
Y We® A AT 7

BRLLESRC

(b) STEUITSIEl S

(c) wfget s

(d) fersim

K2

2¢
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21. Botulism is
\a}-Food-borne infection
(b) Food-borne intoxication
(c) Water-borne infection ¥
(d) Water-borne intoxication 50

Which Constitution Amendment Act
reduced the voting age from 21 years to
18 years ?
(a) 66" Amendment
(b) 6274 Amendment

« (e} 615t Amendment
(d) 634 Amendment

22,

With reference to the radioactivity,

which of the following statements is/are

correct ?

J-Radioactivity is a nuclear property.

2. Hydrogen bomb is prepared on the

% principle of nuclear fission.

Select the correct answer using the codes

given below.

Codes :
+(2)Only 1

(c) Both 1 and 2

24. With reference to NTPC unit at Singrauli,
which of the following statement/s 1s/are

correct ? :
It is situated in Northern part of

Chhattisgarh State.
2. It is NTPC’s oldest unit.,
Select the correct answer using

given below.
Codes :

‘_/(;xr Only 1
(c) Both 1 and 2

@ Diffusion of light in the atmosphere takes
placedue to

(a)Catbermdioxide
Dust ‘particles
(¢), Heliunl
G, \,(d) Water vapours /
26, Qn |the recommendation of which
Commission/Committee, the Inter-state
Cglil;;cﬂ .,wag,:set up in India ?
(a) r}@h}ai Commission
(b) Raj nar Committee
Kothari Committee

»(E:(l:; Sarkaria Commiasio?,

23.

(b) Only 2
(d) Neither 1 nor 2

the cedes

(b) Only 2y,
(d) Neither 1 nor 2

A

21%

22%

23.

24.
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agfereH @

(a) HIsa-Tere & B ATl HshAvT

(b) Hra-veref & g1 el Tt

(c) FA-Ad AT

(d) STer-tfa fadera

FH-8 "y guitee fEs g/ 3aeH @
3 %1 21 T Y T 18 @ feFar T Al 7
(a) 66 af FIMH

(b) 62 af HLA

(c) 61 af F¥gA

(d) 63 T HHA
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F-41/8 98l 2/2 7
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2 fow MU FE ! FETAAT § Hel I HI A
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A . Fi e fed TS & g §
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| e SfieTg UsY & I W P 2 |

0. 78 T, M. F T A TR

) i o e & W IWA A |
F:
(a) A (b) a2
(c) 1 3 2 A (d) AMLIE2
25. F W h TEWR 1 BRT 2
(a) SHTEI-BT$ - JATRTES
(b) YT 7T =
(c)m
—(d) T &

26.

forferfiae 7 & S8 s /AE 6 i
T T B SR WG T 6 T 7
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27. Which one of the following pairs is NOT

correctly matched ?
\,(,aj/\/eitamin—A — QOrange

(b) Vitamin-C - Lemon :
(c) Vitamin-D - Cod liver oil +

(d) Vitamin-Bg ~— Rice bran

28. ‘Statue of Peace’ is situated in which
State of India ?
(a) Madhya Pradesh
(b) Rajasthan
) Gujarat
(d) Himachal Pradesh

29. PM VANI Yojna is related with
(a) Censorship in Print and Digital
Media
(b) Development of Lok Sangeet
(c) Audio-Visual Release of Lok Sabha
4 Availability of Wi-fi in Public places

30. The symbol ‘ECOMARC’ is related to
which of the following ?

(@) Goods of best quality
b}y Safe goods for environment
(c) Exported goods

(d) Imported goods

31. Under the Constitutior% of India which
of the following is @a Fundamental
Duty ? |

& To vote in General Election
(b) To develop the scientific temper ¥
(c) To safeguard public property
(d) To abide by the Constituation and
respect its ideas

32. The Nobel Peace Prize, 2020 was awarded
to whieh-ofthe following organisations ?
e World“Food Rrogramme
(b) United\Nations Development Programme
fc) World)Health Organisation
(d) World/Bank

33. Which one.of the following is@
correctly matehed ?

(Ruler) (State)
(a) Rana'Hamir - Mewar
(b)"Rdana Chunda - Marwar
(c)Malik Raja Farooqi - Khandesh
) Malik Sarwar - Malwa
Khwaja Jahan

il

28.

29.

30.

31.

32.

33,
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Frfetan & -a g T g 7 4 7

(a) ﬁZT&F[—A - Fau

(b) faerf=-C L §

(c) fefiF-D — TS WSB! FT ey
(d) freif-B, — g I Tl

Do 3 a9  fohe T 7 31 e & ¢
(a) EF Yol

(b) ToTELTH

(c) Tsrrd

(d) ferret e

TuTE aToft ST T T R

(a) fome e feforea Hifsm & awfim &
(b) it wifter o ferepre A

(c) ST F/TI-HA FERT

(d) FTESMHF T T ATE-F1g h IueTea @

$HiNe: (ECOMARC) Wdisr fam=ferfiad & 2
foras wrafe 2 7

(a) "o TUrerdT it gt &

(b) wateRer = e gefdra ammeft &

(c) fAatfea ameft &

(d) 3marfea |t @

TR wiau % rafa fFfefia 3 @ #-91
Hifereh et A & 7

(a) 3™ gATET | g

(b) T gReror Y wrar 351 farepre

(c) TS Tt ) gean

(d) FFeT %1 9T e 3w atrawit @ @

(d) fermr =5

frferfian # & FH-w1 U v gk @ 2 7
(vimees) (T=a)

(a)TI‘TITETfT( - W9

(b) T qUET - HRETE

(c) HfcTeh T Hreh! - G
(d) wicTeh WeR TETen W@l - HiewE

«
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‘The Clock is Ticking’ is the th
which of the followir%g days ? SHIcI0Y

(a) International Yoga Day, 202

(b) International Women'’s Day, 2021 *
_ley World Tuberculosis Day, 2021

(d) World Malaria Day, 2021

35. Which of the following Constitution
Amendment Acts made necessary
provisions for the implementation of GST
(Goods and Service Tax) regime ?

» (a). Y015t Amendment Act
(b) 1024 Amendment Act
(c) 103" Amendment Act
(d) 104th Amendment Act

36. Foreign Minister of a country, Anthony
Blinken had visited two days to India for
strengthening co-operation on July 27
and 28 in 2021. He belongs to which of
the following countries ?

(a) United Kingdom
w(brUnited States of America

(c) France

(d) Australia

37. Consider the following events and arrange
them into chronological order :
I. Sharda Act — \97°

11. Nehru Report —'228 P
[II. Constitution of Simon CommisSsION=/%

IV. Dandi March —9 3>
Select the correct answer using the codes

_given below.
Codes :
e 101, 11, L and TV
(b) I, Uy TIT apdy,
() AV A1, H andy]
fd)N, IV, Wand 1IN | /

) 4

syndreme’ is due to the
which of the following in the

(a) Hacinogighin
(b) Mcg'i;e";lgglobin
(c) Lead

M itrate

A

34.

35.

36.

-

B

38.
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%Wsﬁﬁ%ﬂ’ﬁﬁ%ﬁaﬂﬁﬁmﬁw
?

ofin B 7

(a) FF=RISTE T feaw, 2021
(b) ST wigen fesm, 2021
(c) farvm d1sft fggm, 2021

(d) ferva meifan feag, 2021

frefifed & & F-an SfEuE Gy AU
.79, A, (I vd &a1 ) CEE F R
¥ fou FTava® MEHH HAT 8 7

(a) 101 af ¥y Ffafam

(b) 102 af g¥ngA wfufam

() 103 af g Ffefam

(d) 104 af Foned AU

27@28@?@,20218%@%21%%‘?{31@
e femh A o T eI I Hd
03 3 foru wiRa 1 @ feadia amn A1 o | 98
Srferfag & § g 391 & Gl 8 7

(a) FTSEE) fepTTeH

(b) T (ST IR

(c) T

(d)

A fw U g2 @ T I HT FEA I |
w2
(@) IOI, 11, [Q&T IV
(b) I, 11, II @& IV
(c) IV, III, TT @ I
(d) I, IV, 11 @& III

@ # frefiiag o Q fewe Sufefa & R
‘o et frgiw’ /i R 7

(a) EFITATTSE

(b) AedwTAITEH

(c) TS

(d) AEee
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39, Given below are two statements one is

labelled as Assertion (A) and other as
Reason (R) :

Assertion (A) : The government faces
a tough time tackling the bottleneck
inflation.

Reason (R) : The situation is due to
deficiencies existing in the economy
such as supply bottleneck and inefficient

distribution.
Select the correct answer from the codes
given below.

Codes :
&) Both (A) and (R) are true and (R) is
correct explanation of (A)
(b) Both (A) and (R) are true, but (R) is
not correct explanation of (A)
(c) (A) is true, but (R) is false
(d) (A) is false, but (R) is true

40. Which of the following is indicator of air

pollution ?
(a) Puffballs
(c) Lichen

by Algae

(d) Moss

41. Consider the formation of following States

and arrange these in chronological erdér
[. Goa o)

II. Telangana-4»\Y"

III. Jharkhand «%°\

IV. Haryana

Select the correct answer drom the codes

given below.

Codes :

(a) [_JLIIl, IV

(@ 1, TV, M

BTV, I, 100, 1I
(d) Iv, III, 1, I

-
@ Ahemame of theforeign journalist who

—Areported abont Satyagraha at Dharsana
salf\works was
“la)Francis Louis
(c) Web Miller

(b) Mark Tully
(d) Philip Sprat

43. ‘World Ozone Day’ is celebrated on

A

(a) 25" December (b) 215t April
J;ymth September (d) 30" January

SMRN-1 - 2]

39. ﬂ%awﬁqm%ﬁfﬁﬁ@aﬁmﬂm;

40.

41.

42,

43,

3k g i FTO (R) FE T E
H&W{AJ:WﬁWW@W
3 fore B3 awa @b G B TS 2
W(R,:agﬁuﬁmmﬁmiﬁm
o7 e T 3G FTET & v B R |

$9 fou e @ F2Y I H T HIOC |

%

(a) (A) 37T (R) S HeA & 9T (R), (A) #T
TE) AT BT 8

(b) (A) 3 (R) 2 77 &, B (R), (A) 1
Te =redn T8l LT 2

(c) (A) & 24 fohg (R) TeTd @

(d) ()T B, fhg (R) 94 2

feforfiaa # @ F9-71 917G T H HIF @ 7

(a) \ThETeH (b) &

. (c) AT (d) 71|

frefafaa Tt & e W fa=an fifse 991 3%
FHTATIHA 4 afeyq Fifsa
I. TaT
II. d&TH=T

III. FREUE

V. =i

Fie fo T o = e & e I = AR |
% :

(@) I, II, I, IV (b) IV, I, INL,1I
() IL, II, IV, T (d) IV, HI, I, I

34 faeeft weRR 1 T S ey g aree

T I HATWE % 91§ §HER fu

(a) WItE FE (b) AT gt
(c) ow fireR (d) e e
‘forem 3T femw’ wemEn St 2

(a) 25 ReF & (b) 21 3w #
(c) 16 =R ®  (d) 30 Fwadt Y
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E.‘lg.I : SMRN-1 - 21

44. With reference to ‘birth rate’ which of the | 44. THG & Hed o Prafiifan et # & F-91/8

following statement(s) is/are correct ? gél /8 7
] E_rbanization helps in reducing the 1. TR TET 1 w7 H | GEd 2 |
| 1Irth r‘ate. 2, Sl HI&AT & 1 e Frer & @y
2. High literacy rate is directly related =Y 2 |
to low birth rate. H for ™ e @ wE I g |
Select the correct answer using the codes . o \
given below. =
Codes : (@)
() Only 1 (b) I 2
(b) Only 2 ° '
Both 1 and 2 ERPR I
(d) Neither 1 nor 2 (@) 7 17 2

45. With reference to the Uttar Pradesh | 45. et gey e Fra, ferdier iR weamr

Population Control, Stabilisation faerres, 2021 F/a=y H HI-1/8 HUF Tl
and Welfare’ Bill, 2021 which of the 3/4 7
following(s) is/are correct ? §
yﬁis Bill aims to bring the birth 1. sg-fad7s H1 3%??1 2026 T TH & Hl
rate down to 2.1 per thousands 2 1 ufe g9 SHEEAT T HH HLl 2|
population by 2026. 4 5. kdhr § g o 9o & 2.7 I g9R 2 |
2_At present, the fertility rate in the
State is 2.7 per thousand. 4t feu T e @ T IT B G |
Select the correct answer using the codes 52
given below.
Codes : (a) e 1
(a) Only 1 (b) A 2
(DJROnIYE (c) 1 37k 2 aF
oth 1 and 2
‘\(Lc(;))/l?l;ither 1 nor 2 (d)Tda 178 2
46, Whichsone.ol“the following is@)c}ﬁ_ ﬁ-;:;ﬁ:rf@—a 3 § |H-§1 T JH GE T
corréctly-matohed ? TR 7 .
. \(Provisions) = (Sources) (STrae) '(a‘Ta)
(a) F undamental Rights ~ ~ USA (a) HfeTeR e - HgE T
(b) Directive Principles of IR
 \stheaPolig/ >~ - lrcland (b) T 3 Ay Fr¥veh A - IS
. g ¢ f
() Residiay/Powers 9 : & srafire wiFel - sefem
jgenf;er ¢r-~X - Australia (c) %= .

(d) STATIEA WfFwEt - S

— Germany

Wmcrgency powers
A % 9.

| |
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_ 11 & gAferd <hIST qerm gfe
47/ Match List — I with List — II and se.lect 47. I - Iaﬁ@ I ¥ il
the correct answer using the codes given % e feu 77T C T g g&t I ﬂﬁq |
below the lists. q\ac} 11 !ﬁﬁ - II
List - I List — II @fret s g@r&m)
(Mineral (Headquarters) ( ( 5
Exploration Af¥reRToT)
Agencies) A, < F i 19 1. YaAvan
A. Oil and Natural 1. Bhubaneswar SR : ¢
Gas Commission X
B. Mineral 2. Hyderabad B. @ sr=aor e 2. geUETg
Exploration fafies :
Corporation Ltd. g @fis fasm 3. AT
C. National Mineral 3. Nagpur > ,
Development i i 53
Corporation D. TS TegH-gd 4, 73 faoeft
D. National 4. New Delhi FT fofies
Aluminium 7
Company Limited e :
Codes : A.B C D
():gg? (a) A2, 3 1
a
o GNY. 2 4.3
Ndyoies i JAN2 “3 4 1 .
4.
. TS altgen (o (i (Rl SE Neldiis 20 H ST G-7 Rret wmiem % g
in June , which of the followi P frferfiga o 2. S
statements is/are correct ? it : 3 E-ﬁ 8 /3 3 wER/R
1. United Kingdom was the Chair of/ 4 ¥ Rra <l
the Summit. HEqE o1 |
2. Brazil was invited to the Su t'as 2. srsfter &t Afafyr 2w & w9 o R goeq
Seleactguthec:‘s f:ocr?rlé;ltt;yﬁswer usingithe codes 3 S ' \
given below. :ﬁ%ﬁqmﬂﬁﬂﬁmgﬁq ' |
Codes : Fe ! i
i;)})my 1 (b) Only 2 (a) Sheret : (b) = 2 556
Both 1 and 2 (d) Neither 1 nor 2 (c) 1 3R 2 gt (d) Tdt 1742 !
49. /The Public‘Accounts Committee of Indian | 49. ﬂﬁ?ﬁﬂﬁﬂﬁﬁ?ﬁﬁ;‘é@ﬁﬁﬁﬁaﬁm HAL R : '
Parhamenitscrutinizes the o 5! (
a] Reportof the Comptroller and (@) & e & Wit {
.. Auditor General (b) W it wfera fafty it : A
(b) Consolidated Fund of India
(c)Public Actount of India (c) WRet ¥ it e 56. ¢
([d)»€ontingency Fund of India (d) W = SyreRferRan fafty E
Which oneof the following is known as | 50, fr=feifas & & forget Fiemw 9% ¥ =@ ((;
agcc:le;r’atmn stage in the urbanization 37eTET SHET STl B 7 N(
curve ‘ B
(a) First stage %econd stage () SH HEERT (b) faefta sremer (
Third stage d)' Fourth stage (c) el Srareer (d) wqef srawen A
A -10-
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51. At which place did Raja Ranjit Singh set

up the Adalat-i-Ala ?

(a) Amritsar (b) Lahore
vey Firozpur (d) Multan

52. As per SDG India Index and Dashboard
2020-21 published by the NITI Aayog,

W one of the following States was
@. mong the top five States in their
performance regarding SDGs in the

country ?
(a) _Gujarat (b) Andhra Pradesh
_ley' Goa (d) Tamil Nadu

53. With reference to(Socotra Island,)which of
the following statement/s is/are correct ?

1. It is an Island of Oman, situated in
the Arabian Sea.

2. It was designated as a world natural
heritage site by UNESCO in 2008.
Select the correct answer using the codes

given below.
Codes :

(a) Only 1

(c) Both 1 and 2

Which of the following is NOT the eligibility
criterion before filling registration/
application forms for Uttar Pradesh
Mukhya Mantri Swarojgar Yojna 2021 ?
(a) Age group from 18-40 years

(b) Minimum high school pass certificate
(c) Should not registered in any Central
'. Government or State Government
\.  Swarojgar Yojna

Citizen from any State of India

(b) Only 2
(d) Neither 1 nor 2

54.

55. Which of the following Bills .cari’NOT be
first introduced in Rajya Sahha ?

(a) Ordinary Bill )

(b) Comstitutional Arnendment Bill

(c)iState Re-organisation Bill
@y Money Bill

56. ‘Zero Hour’ in the working of the Indian
Parliament means., ]
(a) The first hour of the Session
(b) When privilege motion are accepted

Jc}-Hour before question hour
(d) The time immediately following the

question hour

191

S

o2

53

54.

55.

56.

SMRN-1 - 21

T fta fg 3 frg v W stered~T- 3T
&1 T T 7
(b) STER

(a) IAHAET
EREALERS (d) gEaH

e smEm g gl e A af, e e

e 2EIE 2020-21 % FHq@n Frefafaa 3 4

PH-T1 TF v, F) S, gt 599 Jeud q

w1 & Y gig T=ai | affifoq @i ?

(a) TSI (b) 39 Sed

(c) T (d) afirerTg

A 29 & ded §f frafafad 8 & FH-91/8

FHUT gel 8/8 7

1. 71 S o U 2 2 S 37 AR A R E |

2. T 2008 & Few! g fava wifaeh fatrEd
ToIet o &Y | AT ToRaT 7T o |

= T u 7 AEE W FMT |

e :

(a) Haw (b) Fad 2

(c) 1392 i (d) Far 1382
A0 w2y GEEEA TS FeET 2021 % &
Gefleror /e T W @ gd fefafed 7 |
$-T1 GT1 BT HHCUS el & 7

(a) g Tt 18-40 T4

(b) =IAqH TS Thel ITH FHIIHH
(c) fref H=T TR A1 T FEHR TR

A1 | Yofihd TET &1 =Ry
(d) W & feret oft TS < ATIRER
ferferfia § & S -a s TsIas § YoH a1
e et feha S wehan @ ?
(@) |THTRYT faeRER
(b) wifererfen we e
(c) Trsy gifad faeesh
(d) &

sl G o sl H v e T R
(a) T T AW I

(b) STt fersrenfire srearer i & &

(c) W I % Y& 1 it :

(d) ¥ e =l ek T A FHA
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57. Which one of the following

58.

99!

: IWhich Iofr the follewirig is the largest | 61
ageon laKessjtuated Oh t ] .
gogens 2 a on the east coast
(a) Pulicaf -(—b7/Chi1ka
(c) Kulleru (d) Kilivali

62, Wilgh Indian Naval Shi ici i
Exércigé Cutlass Exprégs{)aZ%i?cip'?ted I
(@) INS Vikran
(DY INSMagar

WEHANS Talwar
(d) INS Vikramaditya

A
-12-

pairs is@

correctly matched ?
(Nirvan Place)

(Tirthankar)

(a) Rishabhanath - Ashtapad .
(b) Vasupujya _ Sammedashikhar
(c) Neminath - Urjayant.a

— Pavapurl

(d) Mahavira

Who among the following has been
d as first Women Treasury

appointe '
3 tates of America ?

Secretary in United S

(a) Lyoyd Austin

(b) Janet Yellen
Merrick Gardand -

(d) Tullipan

Consider the following and arrange these
in chronological order :

I. Golak Nath Case —\%i°
II. Keshawanand Bharti Case— 177 3
11 24th Constitution Amendment Act—\9
IV. 42nd Constitution Amendment Act-1
Select the correct answer from the codes
given below.

Codes :
\,«sﬁem, 11, IV

(c) IIL, 1, II, IV

(b) I, IL, 1L, IV
(d) 111, I, IV, II

60./Which of the following newspapers
won the ‘Pulitzer Prize, 2021’ ifistiie
prestigious public service categoryi?
(@) The Wall Street. Journal
(b) The New York Times
(c) The Washington Post
(d) New York Post

FAET 5

57.

58.

99

71N
A

60.

SMRN-1 - 2]
Wﬁ@w-m@mw@%ﬂ
RIS (Fretfon 2o7)
il _ geRhE
(b) IETH 5 .

(c)ﬁﬁﬂm ~ Ho

(d) FETET - 9ETgd
ﬁm%ﬁﬂﬂﬁﬁ%aaﬁﬁgﬁﬁmﬁ
uwa%wzaﬁﬁ%zﬁ%wﬁﬁgaﬂ%m
T8 7

(a) TS AT

(b) S AT

(c)ﬁR?FTﬂT@R?;

(d) SIfeTd

FrferRad T ferem BT a1 3% Hel hieiwd
[. MAHNY, a5

II. FAGH< Al 916

111,24 oY dfaam g9 sfufEm

V42 af iy g sifufas

9 fd %z ¥ TE IR HI A HAC |
Fe:

(a) L, 1L, 11, IV
(c) 1L, I, I, IV

frafefas woemeEt § 4 feea afaftsa @
& Avft 3 gl qrERR, 2021° S # 7
(a) T I e S

(b)a:{ﬂ'lﬁ?ag'q:{

(c) T aTf¥nTeq URe

(d) =Tk 9

feferfaa # & v % 1=ff qe w fm geg =
A e - R 7
(@) gefie (b) fren

FHEATH TR, 2021 T §
(a) 31w ww, foswia
(d) 3. . ww, fasmmfeey

(b) L 1L, III, IV
(d) 11, I, IV, II

64.

65.

66.

~ o rn
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63. Nitrogen is NOT an essential constituents

64.

65.

66.

67.

68.

69.

of
(a)€hlorophyll (b) RNA
c) DNA Warbohydl'ate

Which of the following words is NOT
mentioned in the Preamble of the

Constitution of India ?
(a) Sovereign (b) Democratic

(c) Secular W ederal

The book Fawaid ul Fawad’ is the
record of the conversations of Shaikh

Nizamuddin Auliya, it was compiled by
(a) Amir Hassan Sizzi

(b) Amir Khusro

(c) Ziauddin Barni

(d) Hasan Nizami

In which of the following years, the

Environment (Protection) Act passed by
the Government of India ?

(a) 1982 “t5] 1986
(c) 1990 (d) 1992
Which among the following is, NOT a

major factors of economic growt ?

(a) Accumulation of capital and
reforms in technology
Change in population

(c) Division of labour in specialised
activities »

(d) Technocrats and Bureaucrats,,

’ is used to measure

Ringe n sc
density of

(a) Smoke (b) Polluted water
(c) Fog (d) Noisé

In the contexts of Indian histery, which of |

the following statement/g-is /are correct

regarding-Vaikom Satyagraha ?

1. Jf was-a'satyagraha against}
untoughability land’caste

. discriininationy

‘2. Mahatma Gandhi‘participated in >

“this Satyagraha. |
Select the corregtanswer using the codes
given below,,

Codes:

(\/(é) 1 only / (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

A

-13-

63.

64.

65.

66.

67.

68.

69.

SMRN-1 - 21

TR T A 3a9d T ¢

(a) FEARIBe BT (b) K. Td. T. A

() €. . T & (d) FEIEESE H
Arfrfiad 7 § FH-a1 wee YR Ffaur
TEdTEAT § Soctfiad A8t & ¢

(a) FEIHAT (b) EHAATHD
(c) qerfaa e (d) L

1 ST 1 a2, $Hen Heher (a1 &1

(a) 3 gET el A

(b) 3T @aU |

(c)ﬁlﬂﬁ?ﬁ?ﬂ?ﬁ':f

(d) &g ot 3

Frferfiad 5 @ for o o R QBT gRI T
(ufweqor) s i feram T 7

(a) 1982 (b) 1986

(c) 1990 (d) 1992

Aefifea ¥ @ FH-a1 AE faed 1 e

N TE 8 7

(a) sft 1 H= UE qeFHTh IR

(b) SHEEAT # gfET 1
(c) Terdreapa fopamadt /miaferferat 2w ferrsia

(d) TeIeh{eg Td FHETTE

e The w1 A fefiiad § | R

T AT A gl @ ?

(a) g3 (b) WgfNa S
(c) & (d) =t
TR e & Heu # arein SeamE % geEy

7 frferiga el ® | SH-91/3 8 8/8 ?

1. q€ HEYEHA1 S ST SeuTE % foeg
Ueh HeITE 1 |

2. WETCHT Tt 3 §9 HeAwE | Wi form o |

9 fedr o he 1 WA R EE IR A |
e
(a) hered (b) A2

(¢ la2gRl  (d)Fd 1982
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Fruits stored in a cold chamber exhibit

longer storage life, because

(a) Exposure to sunlight is preyented

(b) Concentration of CO, in env1r0nr?pnt
1s increased

(c) Rate of respiration is.decreascdﬁ

(d) There is an increase in hum1d1tu

Who originally propounded the theory of

three stages of W?

(a) Karl Marx (b) Talcott Parsons
(c) Herbert Spencer (d) Auguste Comte

72. Which of the following particles has zero
charge ?
(a) Positron v({ Neutrino
(c) Electron (d) a-particle

73. In February 2021, Ngozi Okonjo Iweala
was appointed as the first woman Director
General of World Trade Organisation.

She belongs to which of the following
countries ?
»Aigeria

(c) Kenya

(b) South Africa
(d) Ethiopia

4. )Which of the following is NOT correctly

matched ?
Institute Location
(a) International Centre — Nairobi
for Research on
Agro-Forestry
(b) Indian Institute of - Bhopal
Forest Management
(c) Central Agro-Forestry \Banda
Research Institute
(d) Tata Energy ResearcBw)- New Delhi

Institute

n_whael“year tha

bobk ‘P g
Ufibritish Rle in SRR

India’ was published ?

(a]NL90P AD, (b)1901 A.D,
(cN19Q2 A/D, (d) 1903 A.D,
76. Who Among the following was the

Chairman pf\the First Fj
: rghmigsigll- of India ? e nas
a)\S] ’g,}‘ Santhanam
-ib) th;i];";‘ C. Neogy
(c) Dr. Raj Mannar
(d) Shri. A. K. Chanda

A

70.

7ele.

(25

73.

TA.

75,

76.

1A

SMRN-1 - 2] é
ot sl <o el R Sfte & # C
e ;
() 5 7 e 8
(b)a-rammﬁaa;?ﬁcogm
(o) eIl
(d)mﬁmﬂm ; 7
et e o1 it srereenaTl 1 faeT e '
feper wtrfea fepam &1 ? . g
(o) edé (d) ‘ST I
Prfrfia & & g, U W Y A Al 8 7
79
(a) WISiTgT (b) =fs
(c) 3eTH (d) S eeRlesbll
Fratt 2021 H il Jhis g @l fovg F@R - 80.
Hieq § yus gfeen deifieye & w9 H FAgF
o T 8| o8 wigen FrferfEa & & fobar g
g7 ;
(a) (ST (b) aféor stk B
(c) (d) sefeEn
Ffafiad § & wF-w1 3m g8t gafea
i ‘ 82.
(a) I I -afehy — Rt
ST 3 ;i
(b) YRt o1 Yoy R - s
(c) F= Trer-afyehy — gfer
FHEUH GEH 3.
(@) @1 St SrEaE weaw 98 feecht 5
Il wug aHfafes '
L : Eéfﬁjﬂ‘sﬁ%m AHH GEsh 7%]
(a) 1900 . (b) 1901 %, :
(c) 1902 %, () 1903-§. :
frafafeq o & 55
JTEET o7 7 T R ?
(a) =, wyTmY
(b) #. . ¥, fgnf d
(c) 1. TS HAR (s
(d) . u %, ey N
A
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After cutting cucumber if salt is added,
then water comes out due to

(a) Active transport

(b) Passive transport

\_{ey Osmosis
(d) Diffusion

78. Which of the following Ramsar site is
NOT situated in Uttar Pradesh ?
(a) Sur Sarovar
(b) Samaspur Bird Sanctuary
(c) Sansai Nawar Jheel
d)ySurinsar-Mansar Lakes

79. Site of gaseous exchange in lungs is
(a) Tracheoles ronchioles
(c) Pulmonary vein (d) Alveoli

80. Which one of the following i NOD)an
element of rural community ?

We-feeling (b) Cultural diversity
(c) Territory  (d) Self-sufficiency

81. Tapa cloth is obtained from the plants
of which one of the following family ?

(a) Asclepiadaceae (b) Moraceae -
(c) Graminae (d) Malvaceae

82. Which one of the following Acts of
British India strengthened the Viceroy’s
authority over his executive council by
substituting *

system for corporate functioning ?
\_H?Itndlan Council Act, 1861

(b) Government of India Act, 1858
(¢) Indian Council Act, 1892
(d) Indian Council Act, 1909

83. Given below are two statement$y one is
labelled as Assertion (A) and other as
Reason (R) :
7@Aasertion (A).: Varioug-components of
an ecosysteme-aie not inferdependent,
Reagon(R) :\Human activities have the
impacts on\the envlronment

- Stlectthe correct gnswer using the codes
Igmzn below

des :
(a) Both (A)/and (R) are true and (R
Y gorreg; expj,ar(la)tion of (A) bl
(b) Both (A)&nd (R{ are true, but (R) is
not- cofprect explanation of (A)
c A} rue, but (R) i 1s false
is false, but (R) is true

-15.

rtfolio’ or ‘departmental’ |

{ale

78.

79"

80.

81.

82.

83.

SMRN-1 - 21

it Y FeRT A THF ] Al &, ar fer #

3 frea T a8 7

(a) T TREET

(b) fafesra aftaeT

(c) 9uE

(d) TER )
Pt i & g T T Se R | ferd
TEE 7

(a) T EH

(b) FHEYE geft 79I

(c) TTHE A HIA

(d) gra-ArE Hiel/
mﬁﬁmﬁﬁmwwﬂ%

(a) fraTcH (b) siifericd

(c) TeHI f3rE (dj:ﬂﬁa?ﬁmé
ﬁm?f@ﬁﬂaﬁq—marrﬁwwﬁﬁ
T e 7 .

(a) &5 1 w1 L, (b) TrEhfae fafaed
(c) &= (d) STTerfAa
fraferRaq A fra a1 % @Y | 291 FHAel
FHTET S 8 7

(a) UEpetifquedt  (b) TRET

(e) (reiHl (d)

fafest sfoe & frafofea & @ forg stfafm 3
HTfeeh HRETEH o €& W Taum an faurfa’
Tgld g TEUE i SRR GREE W FH

TTfeshR ot 3R 31fires o Yo fwam 2
(a) Wt Tftg arfafyam, 1861

(b) 9T HTHR 511858
(c) wreta wftwg srfufaeam, 1892
(d) wetE wfwg sifefam, 1909

ﬁifmﬁ@ﬁ% ﬁﬂﬁ%@ﬁ:ﬂﬁww

A

mﬁ@@“fﬁ‘ﬁ?ﬁagl =
%(R) HE foeamant @ e R

:ﬁ%ﬁqmﬁﬁ?@&mmmﬁm|

H2
(a) (A) 3R (R) 3t
%2\ ) g‘r“%‘aﬁum, (A)

(b)g%aﬂt(m%ﬁgi ﬁﬁ(R) (A)ﬁ

(c) (A) & g,
@ ) 3, gy

.\\
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84. Which of the following Schemes 12 %‘Et% :
Pradesh were introduced in Budg
D02 -27> 5
I. Atmanirbhar Krishak Samanvit
Vikas Yojna han
II. Mukhya Mantri Saksham Supos
Yojna : _
lII. Mukhya Mantri Pravasi Shramik
Udhyamita Vikas Yojna _
IV. Yuva Udhyamita Vikas Abhiyan

Select the correct answer from the codes
given below.

Codes :
(@) I, and Il - ] 11, Il and IV
oLlandIV  (d) I, Il and IV

85. Which of the following iorrectly
matched ?

(a) Hundru Waterfall - Subarnarekha

River
(b) Chachai Waterfall - Bihad River

(c) Dhuandhar ¥  — Narmada
Waterfall River
Budha Ghagh — Kanchi River
Waterfall
. =
86. Which of the following icorrectly
matched ? .
(a) Acid present in — Acetic acid
vinegar
(b) Compound present — Calcium
in bones phosphate
ouring of milk - Nitri¢ agid
(d) Acid present in ~ Hydroehloric
gastric juice acid
87. Match List — ] with List L |y and se]
the correct answer using'\t et
below the lists, e codes )
List -~ | List — |
=111
{Voleanic
| MotTtal e (Country)
A. Mot Rainier 1 Italy
| . B)Mplint Etna 2. Mexico
i C. Meunt Perjcutine 3 Philippi
’ ' IPppines
| B\ Mount/Apao 4, U.8.A
ij “Codes : '
: : : B/C”D
\ds 2 1 3
Fl. 2658
) o I
P25 01

-16.-

84.

85.

36.

87.

SMRN-1 - 2]

3 -t T I T H Ay
frefefiad 3 & HH-H
2021 — 22 # i il TE ® 7
I.Wﬁﬁtmmﬁﬂmm
I1. Gt Ham FAIoT AT
[11, Tt St At et fohrd Fe
1V, a1 Jafirt fesm R
F2 3w 3 e ¥ g I H T HINT |
& :
(@) I, IL.T& 1T (b) II, III € IV
(c) I, ILUS IV (d) I, I &F IV
Fretferfia 3 & e —ar at gafr TR 7

(a) e YT - gIoREr 9
(b) TET3IUT - ofigg FEt
(CPYHEIRYIE - e
(d) S@TEE I - i g
et % 4 - wd g w8 §
(a) et F sufeery s — THifew 3
(b) BE § 3ufe A — o
HTEhe
(€) 34 1 wet 2 ~ e s
(d) 3w F sufeg - ERSEETE
i Shes
‘f‘ﬁ‘laﬁw-négﬁmw
RRGEAEE
B Tt - 1
(e e
A, T30 1 1 sen
B.muaqgm 2. A
gﬁw 3. Trofiore=y
3[:7’6: # !LWQ
(€) 2 asen
(d) 4 3 pRE
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88. Which one of the following is the main
constituent of LPG ?

(a) Hexane (b) Pentane
\(cLButane (d) Methane

89. Which one of the following rivers is NOT
the part of Indian_Ganga river basin ?

—(ﬁ)/Punpun river (b) Ajoy river ,
(c) Jalangi riverp (d) Jonk river

90. The blood glucose level is commonly
expressed as

(a) MM of Hg

(b) Milligram per decilitre Y
arts per million

(d) Gram per litre

91. The ‘Saras Ajeevika Mela - 2021’ was
organised in which of the following city ?

;je.}z?é/fna (b) Raipur
[/ ucknow (d) Noida

92. Nobi and Kanto plains are located in
which of the following countries ?

(a) North Korea (b) South Korea
(c) Japan (d) China

93. India climate change knowledge portal’
was launched in which of the following
months of 2020 ? »

(a) November, 2020
(ByDecember, 2020
(c) September, 2020
(d) October, 2020

94 : ;@msﬂy of Culture \Government of India
e PArt of Azadi/kd Amrit Mahotsay
Qg%%?,?a'tfd the birth anniversary of
2021 St oo i Jne,
it 1Ch one of. i
in Uttar Pragesﬁ'?  10R0WIng places
(a) Sll;’ﬁmi;fﬁhaura
ahjehanpur
(¢) Rampyr
(d) Ballia

SMRN-1 - 21

88. 1= o § F-w1 va. ft. 0. =1 gy a@wa B 7

(a) BT (b) U=
(o) (d) =2

frfafag & @ SR-d v T2 wredtg T @
T o1 fewm =& R 2

(a) 99 T (b) 375 T

(c) STt 7t (d) it 7@

T H IRhU ol T HIET=IaaT eiia fea
ST B

(@) TR 31% Hg % &9 #

(b) Frefom wfy sfafeer % =g &

(c) uréw wfa fuferm & w9

(d) 79 ufe foTex & &9 &

T STSATTHIET — 20217 FT HAFH
frerfafaa 3 @ e e & fomar o7 2
(@) 9eT (b) TER
(c) T@TH (d) Tra=r

ANell ST Tt e Frfifiae o @ feg 2w

feq g ?
(a) ST Hifen (b) o e
(d) ==

(c) ST

ﬁmm%mﬁﬁam T Y
2020 % frerfafian & @ forg wfe) 3 R
T 9T 7

(@) TEFR, 2020 #

(b) fewwr, 2020 #

(c) e, 2020 §

(d) TR, 2020 #

mw%ﬁqﬁmamw
TR & T 301 % w9 & 5, 2001 ﬁ;?g
T G TR0 1 il 3o s Pt

89.

90.

91,

928

93.

94,
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95. Who was the founder of the C‘A—Si—at—lg

Society of Bengal’

(a) Jonathan Duncan
~Ab) Sir William Jones

(c) Warren Hastings

(d) William Bentinck

96. With reference to ‘NET - ZERO’ goal for
2050, which of the following statements
is/are correct ?

. It means that a country will bring
% down its emissions to zero by 2050.
/2{ It means that a country’s emissions
will be compensated by absorption
and removal of green house gases
from the atmosphere.

Select the correct answer using the codes
given below.

Codes :

(@) Only 1 /ﬂf Only 2

(c) Both 1 and 2 (d) Neither 1 nor 2

97. Given below are two statements, one is
labelled as Assertion (A) and other as
Reason (R) :

Asser_tiqn (A) : The Council of Ministers
\Pm India is collectively responsible to both
Lok Sabha and Rajya Sabha
Reason (R) : Members of both Lok Sabhg
ar}d‘Rajya. Sabha are eligible to become
Ministers in Union Government.
Select the correct answer ysj
P toco Ingthe codes
Codes : N\
(a) Both (A) and (R) are tfiye
correct explanation ipf (A)
(b) Both (A) and (R) are true, but (R) is
not correct explariation of (A
(c) 4A)1s true, but (R) 18 falge
(ALIs fAlge \but (R) is trye

and (R) i

08" Aceording to f_chq Union Budget 2021
Fmance' Minigter roposed
lepy” Agrigultire In? s

rastrye
evelopment Cegs. This bure

- 22’
New
and

levied on how many p ducctisg Will be
() 12 20

(d) 29

()25

95.

96.

o)

98,

SMRN-1 - 2

| g e ST T R E

P 1 7 J

(b) & faferam St

(c) I Bfee™

(d) faferm s

2050 % forg Fe-ofidl’ 9ea & T |

et # & F-1/2 B wd #/% 7

1. 38 1w 2 f6 3w 1 2050 T 3T
IcHe ﬁ?ﬁﬁ:ﬁ%mml

2. 39 a3 foh foredt 2w & Iegsiq
i arfaafd araraTor & M7 geg A w5
e qen atasiee & 2t |

At feu e e & W SR -+ == Fifw |

gic 1(

(a) e, 1 (b) aet 2

€ 13R2EH  * (d) 98 138 2.

1(

W-

(@) (A) ik (R) AR wey &
o g M (R), (A) F w8

b i 1
() (A) W 8, (R) Trery &
() (A) Trorq &, % (R) ey R
Heﬁaaazaom -22 % ‘
mw«‘ﬁmﬁa% ;?%Razammﬁaﬁﬁ
ﬁh‘"ﬂﬁ | I8 ¥ Ry d
s MR ?
(c) 25 :2: 20

9
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09. |A member of State Public Service

Commission may be removed by

(a) The Governor on the basis of
impeachment in Vidhan Sabha

(b) The Governor, after the enquiry
conducted by the Supreme Court

(c) Fhe President, after the enquiry
conducted by the Supreme Court

(d) The Governor, after the enquiry
conducted by the High Court

100. Which of the following countries is NOT
located on the bank of the Black Sea ?
—‘_—’_——"

(a) Syria
(b) Turkey

_{orGeorgia
Bulgaria
101. Arrange the following foreign travelers
in chronological order of their arrival in

India :
[. William Hawkins__ 16~ -

II. Ralph Fitch
III. Sir Thomas Roe — -~
IV. Nicholas Dawnton
Select the correct answer using the codes
given below.
Codes :
(a) I, I, IV and III
V, II, I and III
(c) I, III, IT and IV

(d) III, 11, IV and I ¢

102, With refererce to the ‘Capital\formation’
which of the statements is /fare correct ?
1 Process of capital fermation depends
on ssavipgs and \éffectiveness of
finareidl, institutions.
2/Investment is the essential factor of
~“capital formation.
i f ;&lect thecorrect answer using the codes

-'g@y,@p below;,

4 = 5
uﬂér.
y i

(d) Nelther 1 nor 2

SMRN-1 - 21

Q9. d i FdT STTANT & HEE I 2T S
el &
(a) faam @ 9 #eTfimi & Har o asaare
she: ;
(b) STAH AT hl SAT< & Gg=Id TqITe

ﬁmwﬁaﬁ%mwﬁm

(d) 3= <TETerE i St % TgETd T g

Frfafiad § § 31 2971 FHIaT GPE % a2 T

100.
feora & 8 7

Frafafiaa vt & 39 9id I 5
HIAsHHIHTT, Agfedd HIfT :

1. fafem et

1. Gehfted

T8 aTHg T

IV A4ehicrd 8¢
ﬂ%mm@aaﬁmwwﬁﬁﬁ’l
e :
(a) II, I, IV @91 111
(b) IV, II, I @ III
(c) I, 1L, I @ IV
(d) III, 11, IV @@ I

éﬁgﬁﬁw’%mﬁaﬂq-mmwa—a

J& 7

1. Gft fmfor <1 wfshan st SR focfta
qeyral < wferar W R st @

2, faawr it Fmiur < for e tfeml F R |

e feu e e @ wEl I H G |

He

(a) ae 1

(b) Had 2

(c) 1 3 2

(d)Far 1982

101.

102.
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SMRN-1 - 5,

3 ?@—Iaﬂ@—llﬁgﬁ%ﬁfrﬁqmnqm
103. I\illatch List - | with List — II and select | 103.

: § Hel I H 9T Hify |
the correct answer using the codes given % 9 few me e et - 11
below the lists, Tﬁﬁ' I (aﬁ’tﬁlﬁ{)
List - | List — II (StamuEe)
(Biosphere) (Location) A. fafrefiarer 1. IAUEvs
A. Similipal (‘71. Uttarakhand B, T 2. YT
B. Pachmarhj X_ J2. Meghalaya C. T 3. " gy
@ Nandadﬂ’pé& Madhya Pradesh D. e 4. 3nfesm
D. Nokrek 4. Odisha 3 :
Codes : e A B C D
A B c p o 3 o
&) d g m s O
SRR
() Gagd” © o 2
E) 8 a a5 d) ESiESiai
104. Who among the following was NOT a4y, 104. Ferferfa # & 1906 3. ¥ nfag ST -5y
early member of the ‘I\Iaujawan—Sabha’ 1 YTy o i TE T ?
formed in 1926 A.D. 7 y
'@) Bhagat Singh (b) yagpay (@) y7a fig (b) rerrey
(c) Chhabil Dag Mbﬂ{a Chakravarti () odfte g (d) tfeaesy Tshadt
@Which of the following js the correct 1oy E@ﬁm%mmﬁ%éwﬁmsﬁaﬂt
sequeilce of th;' Islands of Indonesig from T Ty ﬁtl'%ﬁga ¥ EhaF{-lTl 27
>(5}/Java, Sumatra, Lombok, Baj; (&) ST, gam, W, i
(b) Sumatra, Java, Bali, Lombok (b) A, ST, STt F‘fﬂ'ﬂ’l‘q—:
(c) Surpatra, Java, Lombok, Balj () A, ST, aﬁ-qahm, Teft
(d) Bali, Sumatra, Jaya, Lombok (d) et guTaT, &, S =
: Lapgest saline water lake ip, India jg 106. Haay
_}J(é:hilka (b) Sambhar 2 @) ﬁ;‘[@ﬂ T A vy 3 3fe 2
() Lonar‘f A Wity (© ) ‘ {2; IR
‘ e
107. In India the First Mup ipal Corporation }
was set up in Whieh 107, ﬁ'q T q Re0) =)
foﬁowing places p.\ = °ne among the g 'ﬁ,—m o _:R e § TN TR fom
(a) Calcutta “bJ Madrag (@) .
(©) Bembay (d) Delhj (b) wzrg
Il |l 05 Wmiek onk of the followin, bools -
,JJ 1 by\Noble Laureate Amartya ;;n;teg 108, :ﬁira q ﬁﬁh‘r
[ published in duly, 505, i et A m@'q*’d e faﬁag
[l (a) Development ang Freedq ST R I9E, 2021
| | m Qﬁ i
i (b)/The/Argumentatiye Indiap, (a) Saemo WS sy
I /J (€) Hofrie in the Worjq (b) g g oy
// ‘ - (d) THe Idea of Justice () &y EE R Tosd
(i ; (d) Ssfeey 5o
AN i WW@H
/IF/ | .A -20.
I |
il
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109. ‘SENSEX’ is the popular Index of Bombay
Stock Exchange (BSE). It is measured
on the basis of how many blue chip
companies listed in BSE ?

(a) 20 \(b)-30
(€)¥25 (d) 10

110. Consider the facts given below :
_l-Sukumar Sen was the first Chief
Election Commissioner of India.
2. Rama Devi was the first woman

Chief Election Commissioner of

India.
Choose the correct answer from the
codes given below.
Codes :
(a) Only 1 is correct
(b) Only 2 is correct

oth 1 and 2 are correct

(d) Both 1 and 2 are incorrect

111. Which among the following districts of
Uttar Pradesh is smallest in terms of
area ?

(a) Hamirpur (b) Hardoi
(c) Hathras '\_(g,)/Hg;ur

112. Who among the following had performed
the world’s first heart transplant ?

(a) Dr. Venugopal

(b) William Harvey
—Ac Christian Bernard

(d) William Betrick

113. With reference to Meckong river, which of the
following statemeént/s is/are cornect ?

¥ Mekong rises in TibetarivPlateau

2. Mekong delta is situated in
Southetn Cambodia) 7

Selectthe-correct answer-using the codes
giveh below, |

p.}l only (b) 2 only

(e) Beth )1 apd 2 (d) Neither 1 nor 2

114, WhichVef”the/following vitamins is
essengia;jqr_ normal vision ?

(a) Folic acid (b) Riboflavin

Miacin (¥ Retinol

109.

110.

1 18",

1312,

181133

114,

-21-

SMRN-1 - 21

FFY A @ik S (BSE) H1 Yaferd
T 2 | dea i #§ qefag el o fad
FHEfl @ gHRT 9199 AT 8 7
(a) 20 (b) 30
(c) 25 (d) 10

e fau T gt W e i

1. T o 9 e fafer g P e o |

2. W ! Ygeil Aige g fHafem Age T
ot oft |

i feu 7T e @ wE s ghw |

F2:
(a) FaeT 1 TEl &
(b) deT 2 TET B
(c) 1 32 i gt &
(d) 1 3 2 ST g &

I w6y 1 fyiferfiad # & -1 e &5%a
&1 gfee J(oad BleT 8 7

(a) BHRGT (b) @13

fc) (ETa (d) &g

fava 1 vgen g yomhw = ¥ & e
o 7

(a) ST, SvpTIITE
(b) fafermm 7@
(c) Tsrfverm &=t
(d) faferm afees

form % wad & Fafafea § 3 SR-w/2
FUT A B/ ?

1. T 1 3T fresrd % weR A R |

2. forehim =1 e et e § w2 |

i<t fRw Mo e @ W) s

e ;

(a) e (b) %ad 2

() 1 32 < (d) Id13& 2

I 2f% 3 fore Pt & BH - faerfen
SR B 2 7

(@) P 3t (b) TR
(c) Frnfim (d) st
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115, “Can You show me one free country

Where there are S€parate electorates ?
.-+ The Britig}, element is gone, but they
have Jeft mischief behind”

0 among the following said the above
mentioned Statement in the Constituent
Assernbly debates ?

(a) Somnath Lahiri

(b) Jawaharla] Nehru
{2} Sardar Vallabh Bhai pate]
(d) N. G. Ranga

According to ‘Global Peace Index, 2021,
which of the followi i

Peaceful region in the world ?
(a) Africa Europe
(c) Australia (d) South America)n

Reason (R) : Vitamins are essential for
PTOper growth of the body.

Select the correct answer ysin g the
given below.

Codes :

(R) are trye and

€xplanation of (A)

(b) Both (A) and (R) are true, byt
not correct explanation of (A)

(c) fA) is true, but (R) is false
\-(df(‘A) is false, byt (R) is trye

@ Sugamya Bharat Abhiyan s 4Ssociated
) Disabled Persons

(b) Child Health Care
(c) Women Empowerment
Under Privileged People

(R) is
(R) is

A

119. With reference to the electrie otentj 119
which-of the !bllow1xlgmm*r?ts\isil%;\ ;
Correct, 2
1. It,i8,a scalar quantity.&(

227 It is a vector quantity,
Selegt'the correct ANSWer using the codeg
given below. :
w, Wt
(é)‘Bbt Vland 2 (d) Neither 1 nor 2
75
~22.

S

115.

116.

117.

118.

SMRN-1 - 2

.‘wmﬂ—g@mmwﬁmmiw

e HATTER & 7 ... S E, v 4
™E | .

Mﬁﬁwmwﬁaﬁm

BT % 98Y | HeEr o7 7

(a)ma@sl

(b) ST

(€) TER =g Hig et

(d) w3, o

‘v i i, 2021’ % 3R fsffigg
ﬁaﬁwzﬁrm?ﬁﬁf@&ﬁaﬂﬁ?—m% ?

(a) TbieT (b) T

(c) Teferar (d) gféaor amfies

ﬁ%aﬁmf&qwzﬁﬁtﬁ%waﬁmm)
31T 55 1 Py (R) &1 Ty 2 .

H‘a"fmqﬁfm%
(©) (4) e 2, fom (R) Ter @
(d) (A)W%,%(R)m%
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120. Match List — I with List — II and select
the correct answer using the codes given
below the lists.

List - I List — II
(State of India) (Highest Peak)
A. Tamil Nadu 1. Dhupgarh Peak
B. Rajasthan 2. Saramati Peak
C. Nagaland 3. Gurushikhar
Peak
D. Madhya Pradesh 4. Dodda Betta
Peak
Codes :
A B C D
(a) 3 2 1 4
[B)F 1 e 3
() 4 2 &) 1
o{d) A SRR

121. A non-renewable source of energy is
(a)-Solar energy Petroleum
(c) Wind energy  (d) Biogas

122. Among the following countries India’s
trade balance surplus is maximum with
which country in 2019-20 ?

= USA
(b) China
(c) Japan
(d) United Arab Emirates

n which year(P.C. Hota Com—ﬁl‘iﬁ@nn
Civil Services Reforms was constituted ?
(a) 2003 (b}2004
(c) 2005 (d) 2006

124. g‘he concept of ‘carbon credit’ originated
rom £
(a) Earth Summit, Rio-de-Janeira
(b) Kyoto protocol
(c) Montreal proto

Lo ~
(dL& - 8 Summit, Heiligendam

125. With referefice (o the Satavahana Rulers
which oftliefollowingstatement/s is /are
true 2
13The Satavahana Kings were the
nurtures of Pralerit language,
2. Rublic\aspect of the'arts got
more spcouragement during the
Satavaharna period,

Select the correctanswer using the codes

o

given below,
Codes
(a) Only 1 (byBoth 1 and 2
(c) Only 2 | (d) Neither 1 nor 2
A -23-
b s i

SMRN-1 - 21

120. 9t — 1 gt — 11 & gafera s qen it

125

122.

126

124.

125.

% 19 U M0 He A wE I F =7IA FIC |
gt — 1 -1I
(9T o T4) (F=| 3=t =)
A. 1. 497 =il
B. TS 2. AT =Te
C. AnMels 3. TRRER =
D. HET Y29 4, 3rgT 4z 91
He
ALLuB G B
AEEEE2 . T 4
BN /Gms 42
(c)it 4 2 3 1
(s @Bl 200 1
@W FS1 1 EId 2
(a) & (b) Ygiferam
CEREE] (d) =rErTE

2019-20 ¥ fr=fefga 2ot § & fraa yra =
SR WY ey gaffas @ 2 7

(a) 4, . Q.

(b) =13

(€) Su=E

(d) ey 3R 3nfird

fofere fanati @ gum 2q ©.6. S wfif w1 e
fera a feran ar o 7

(a) 2003 (b) 2004

(c) 2005 (d) 2006

ThHTEH %%z’ﬁmwmgé

(a) 39 @fie, fE-3-3fR

(b) TR MereRrat

(c) HifRae Werwiat

(d) St - 8 @y, Befioien

HIAETE et & wwes o frferRag st o @
HH-HI/R o T2 B/ 7 ‘

1, |ITETET T e W7 F Gy o |

2. HITETES 161 H Hell % e qa ) A0

firem |
‘ﬁﬁvmﬁﬁaﬁmuﬁjm|
He
(a) et (b) 1 3 2 3
(c) Saet 2 (d) T 174 2
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(a) Soda glass
(c) Jena glass

127. Which one of the following pairs is NOZ
correctly matched ?

(Name of local (Places)
winds)
(a) Leveche - Spain .
(b) Brickfielder - Australia
_leyBlack roller - North America
(d) Shamal —  Austria

128. Match List — I with List - II and select
the correct answer using the codes given
below the lists.

List - I
(State)

List - II
(Representation in
Rajya Sabha)

A. Rajasthan 1. 10 seats
B. Gujarat 2. T seats
C: Karnataka 3. 11 seats
D. Punjab 4. 12 seats
Codes :
A B C D
-3 il 3 4 2
(b) 2 @ 4 1
fe) 1 3 4
d 4 3 1 2 r
129. Who among the followih i
D
‘-. \;Jn(())? the Oscar Award fo% thlgegzgl;
[lon picture in 20 -
ﬁ “Nomadland” ? : 21 fo-the movie
4 (a) Chloe Zhao

(b) Emerald Fenriel

(c). Leedsgac:Chung
~Ad) Chonias\Vinterberg
)v\'hich of the followin

5

€ pair is NOT

gMRN-1 - 2]

correclztly matghed ?
(Place)
T
(#) Alaska 4 (KZ“’")
y'Borneo 2 Pu;&mk
i (c)Arab Desert L Ruwarll
| (@) Sweden and Finland - Lgp "

qu]m*m
d Hid
[c)'“}f’”w;‘I a 3%
ﬁmﬁf@aﬁﬁiﬁ-mﬁwgﬁgﬁ%ﬁqﬁ%«
246 : (-Fm)
(zarra T |
%1 ATH) .
(a) T T reRm |
R et S *
(c)ﬁéﬁﬁﬁa—( y ¥,
(d) T - s :
| ineo
128, gt = 1 71 o - 11 @ GAIeTT AIRre e (
250 foe T g & e I B S T :
gt - 1 et - 11 (
) (e # wifafafire) (
A. TSTEAH 1. 10 ®% ¢
B. TE4 2. 7 i (
C. ®Alch 3. 11 €1°
B Yeha 4. 12 €13 (oA
¥ K
Al c el A
G s 3
(b)) 2 S R
(c) 1 2 3 4 fe
(d 4 3 1 2 S
gi
129. 2021 # e 37arE wf C
&R Sfiaq areft Q‘mﬁﬁtw &
Feortan & 3 foed oo
(2) Yot Smai ' L
(b)mf}ﬁ.ﬁ (c
4. -
Yy et 134, 11
130.ﬁ1:¢ﬁ§ﬁq_m Cc
i T 7 !
(&) 3TeTRy (Sremfr)
(b) ff - P (k)
(c)mw o E.me (C)
(d) wiey = ¥
T g _ A (d)

e
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131. Consider the following Committees on

panchayati Raj and arrange these in

chronological order : :
[. Ashok Mehta Committee @

II. L.M. Singhvi Committee

1. B.R. Mehta Committee ®

V. G.K.V. Rao Committee

Select the correct answer from the codes

given below.

Codes : e
@1, 1, I, IV by I, I, IV, 11
@) I, 1L, 1V, 1

(c) 6E 10 00 IV
The functions of the State Public Service
Commission of Uttar Pradesh can be

extended by

(a) Prime Minister

(b) Union Ministry of Personnel, Public
Grievances and Pensions

@Xhe President

(d) Uttar Pradesh State Legislature

Given below are two statements, one is

labelled as Assertion (A) and other as

Reason (R) :

Assertion (A) : Teesta river was earlier a

tributary of Ganga now it is a tributary

of Brahmaputra.

Reason (R) : River capturing is a major

feature of Himalayan rivers.

Select the correct answer using the codes

given below.

Codes :

(a) Both (A) and (R) are true and\(R).i§
correct explanation of (A)

(b) Both (A) and (RB are true, but (R) is
not correct explanation_of-(A)

(¢) (A) is true,.but (R) isfalsé

atd]’(A) is false, but, (R) is true

134, The s7i -
Aaeprimaryduty of the/
?pmmlssicg of Il}‘l’diﬂ is H1ADaR
8o "give the recommendations
,d_!gt;1by-t1on of tax revenue betwegﬁ
the'Utiion/and States
(b) To prepare thé/Union Annual
) To s
c o N P> y ] .
: ?a?tcg;gi;‘tjuc President on financial
0 allocate funds to vario
Uloc us
lh;ltllriustrmen Departments of the
on and State Governments

132.

133.

131

132.

133.

134,

SMRN-1 - 21
. gt TS W e afife w
3% HICTHAER AT e i e
1. 37911 Hear afufy
I1. ue.un. faet gfafa
111, =ft, 37T, oeEan afufy
[v. sft..4t. T affa

2 faw T e i HErHAr & TH I =

FIfSTT |

T&:

(a) I, 1, I, IV (b) III, I, TV, TI

(¢ 1, I, I, IV~ (d) 1L IL IV, I

e 29 TSI i HAl AEN <k HE

fpeTe 3R ST FeRdT 2

(a) TETAHAT G |

(b) A I, A BEFEd a1 U9
AT grRl

(c) Trsgafa G

(d) 3T W& ferum AUSe g

32 Fe Ru e E, R § T i A (A)

371 g8 i SR (R) FT 7A€ :

Stfvreror (A) : forea et UBet T i HEEh 4l

ofh\{TSTehel I8 SEIYA I TEFF 4l ¢ |

HRUT (R) : T gew feare= it Ffedi #1

T T R |
H2 R T e | T IR F =TT FC |

T4

(a) (A) 3 (R) I & & 3iR (R), (A) FT &l
TS AT &

(b) (A) 3R (R)ﬁmé,ﬁﬁ (R), (A)
el e 98 @

(c) (A) § &, g (R) 7o @

(d) (A) TeTd R, foheg (R) wea @

W & o s e e &
(o) Tz 9 e e e e

(d)ﬁﬂﬂtmwﬁ%ﬁm ;
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135. Which of the following labour relatfge
Acts have been amalge’lmated into
‘Code on Wages, 2019’ ?

[. Minimum Wages Act «~

II. Payment of Bonus Act _~
[Il. The Contract Labour Act
IV. Equal Remuneration Act

Select the correct answer using the codes
given below.

Codes :

(a) I and II only

(b) IT and III only

(¢) I, I and IV only
JdHL 1T, 1T and IV

136. Who among the following was NOT

associated with the Kanpur Conspiracy
Case of 1924 ?

' \W/ Muzaffar Ahmed
alini Gupta
(c) Shaukat Usmani
(d) M.A. Ansari
137. As per the Census, 2011 estimates/
which one of the following is the most
populous State in India ?
(a) Bihar (b) Madhya Pradesh
(c) Maharashtra J;H/ Uttar Pradesh
138. Which one of the following is NOT
correctly matched ?
(Subject) (Related
_ Articles)
(a) The separation of),_—_ Article 50
Judiciary from t€ieeutive
hespreniationYof ~ Arti
edbicational and grs 46
| eeonomic intetests Fo5ia
! of 8cheduied Castes
, and Scheduled Tribeg
(¢}, The promotion of —< Arti
Co-operative Societies 1#le 43a
(d) Phe oyganisation of _ _ Arti
Vililage Panchayats 5 Ple 40
‘! and enable them to
function as the units
of self government
A

v
SMRN-1 - 5,
ﬁﬁﬁ?-ﬁwmﬁﬁwﬁ#‘m~f E
i Egm 2019’ & |fesferd foram T 2 7 1
Iwu@m
11, S99 A U
111 Hfee #m sy

e fed T e & wEl I H TG hiA | 1
Fe

(a) ae I 3R 11

(b) shaet 11 3R 11

(c) et 1, 11 3 IV

(d) T, 11, IIT 3R IV

136. F1 % A N U 1924 % HHE ve47 T |
e TE a1 7

-26-

14
(a) BIFHL 31EHG
(b) Fefiht e
(c) \Iehd ITTH
(d) W. T. 37grdh %
ol SEANAL: 2011 % STAT 3 S13am Wi 3§, fm
ﬁ@ﬁ?*mﬁmﬁﬁmmm%?
(kL (b) wer e
(€) weTare (d) W sy
138. = iferg ﬁgﬁq_mwmmqﬁ%?
(foeea) (wrafm 14
=BT
(B)Wmﬁmaaar&mﬁﬁr o 0
(b Lk e
) SRR St oy - e 46
ST SRy 3
NeT 7 a7ty
fed 1 srfirafy |
(c) HEwFTh
ey e 3 = Igeae 434
(d) T Wyt oy
Sﬂtaﬁwm s T3 40
T g
T W‘fm N
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i .
139. Which among the following are India’s | 139. fi=feifiaa ﬁﬁﬁq_m%ﬁ
permanent and operational research 3N ITF g : A 1 Toafy
stations in Antarctica ? STt af . HIHI T3 3 9
(a) Bharati and Arya (@) Sl e
\by Bharati and Dakshin Gangotri (b) e 37T gfeqor i
(c) Bharati and Maitri (c) Tl 3ﬁ( ﬁ:ﬁ
(d) Dakshin Gangotri and Maitri (d) gféqor Tt 37 A
140. Whic}h one to}i; tglzg following is NOT | 140. fr=feifled & & ®-a o gifer = 2 -
correctly matched * fraemHh ZFt Siefe
(Name of Player) (Medal Won in ( il (
Tokyg Olympic 2020 ¥ ffsm
020) 93)
(a) P. V Sindhu' - B-ronze Medal (a) Ti. 1. fay — i Ygh
\jbi/Be_ljrang Punia - S?Iver Medal (b) &S gfT ~  T9d 9g%
(c) Mirabai Chanu - Silver Medal (c) @S = -  {9d 9g%
(d) Neeraj Chopra - Gold Medal (d) Hirst =gy ~ @ g
141. 1'I-llowbmany disgictsd of Uttar Pradesh | 141. Fifq a1 NI S T8 SATahiet e #dEn
as been covered under the Aspirational 3 :
o S e B gk | N LTRRORT S el et 3 . 20
(a) 4 (b) 6 () 4 (b) 6
98 (@ 10 (08 d) 10
142. Which among the following organisations | 1490 Fefafa § q forg e T
Et(i)lgeisged the World Population Report j 2021 W H%TU g q-rgém
! 2] ltdlé, 1 fehdT Ty ?
(@) International Monetary Fund nga-q
United Nations Population Fund (:) 0 = m
(c) World Health Organisation (b) g7 T, e iy
(d) pnited Nations Development (c) fowa wamee sy
o (d) ¥ Tz frebrer iz
143. Match List - | with 14
= th List — ]I
he correct answer using.the ciggss?ect 143, H:vﬂ ~ 1 Ot - 11 @ g‘ﬂ‘f@m Eﬁrﬁm q
TV g e %ﬁmwﬁﬁﬂﬁmmwml
ist ~
(Text) e W o - 11
AuRagamaly 1. lg (=e1) (Tarfaran
Rasa Kaumudi /5 nanaty A, TS )
= aumudi /2. Venkat ' - 1. |y
€. Raga Vibsdh 3 Pundrilia\;?gﬁ ] B. W e e\\ﬂ, :
“Chaturdandi V| 4 \gi & o Rl 2. dher
Prakashik )51 Kantha sy 3. sl fgaw
Codes : D. wgdus SR TR &
& w7 + M
(b) 4 B ¢ p
L g (@) 3
o) fl .l
8la 0. g Ny (b) 4 2
@ 1 , 2 1 3
(d) 1 2 3
: 4

-27-
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144. With reference to the special address
of the President of India, which of the
following statements is/are correct ?

/‘f The President addresses the joint
meeting of both houses of Parliament
at the commencements of the first
session after each general election of
the house of the people and at the
commencement of the first session

of each year.
1e President in his address informs

the Parliament of the causes of its

summons.
Select the correct answer using the codes

given below.
Codes :
(@) 1 only
(b) 2 only

3oth 1 and 2
(d) Neither 1 nor 2

145. Which of the following organization has
launched ‘The Great Reset’ Initiatives for

the recovery of global economy during
the Post Covid — 19 phase ?

(a) World Economic Forum
Msﬂd Bank

(c) OECD

(d) UNCTAD

146. A clove represents to which! 6f the
following ?
(a) Terminal bud
(b) Accessory bud
Flower bud -

Wﬂggtative bud

147 Headline inflation refers to the change
1h value of all £00ds on the basket. On
whieh basis fs the headline inflation
measured’?

(a) Wholesale Peice Index
(b) Consumeér Price Index for Industrial
Worker,
\(c} Combined Consumer Price Index
(d) Urban Consumer Price Index

144

145.

146.

147.

SMRN-1 - 21

e % Tty % P fn &

Fymrifa i & a1/ Fu TE 8/ 7

1,W%,Eﬁwmaﬁmmﬁafa=r%
qﬁﬁﬂﬂnwaﬂtma@f%wwa‘
S & gae % Sl e i qgFd 95
%! galfid widr & |

2. gl T ST § GEE i IHh TG
% Rl & g o g a8 |

T8 I ] =, A9 23 w52 T g 4

$ifsr |

XA

(a) Had 1

(b) &had 2

(c) 1 qUT2 i

(d) T FNLA & 2

e, et fopm e g wifas -19 & gv=m

dit AP sreferaeen % UM 29 ‘€ de G
AT ! I femar o 7

(a) fava anféfs 9=

(b) fova &

(c) 31.3.51.€.

(d) e (7,075 A.TE)

T frerferRad & & fege fegw 2 2

(a) AT Helt

(b) HETS et

(c) & heft

(d) FEafa shedt

¥t grrehifa <rendt 3 it aeqall & e §
afterd 1 wehfa et @ | s gEmdife @
HIo R SR W foRar ST & 7

(a) ST T HEHIh

(b) 3t st Iyviiee e gemi

(c) HTfech SUMTHRTT et b .

(d) W&l SusiteT T gew :

|

Scanned with CamScanner



Y '.'?Ep
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- o %, 5 A U =i s
148. Given below are two statements one 18 148. :ﬂaﬂi‘z;?aﬁﬁqmlm) mmﬂu?m s A)
labelled as Assertion (A) and other as £ 1LY ek |
Reason (R) : ' 31&75917{ (A) : £ T F 3eE g £
Assertion (A) : The President of }nfl'igei et 1 fAeren T T TR e 1i
determines the qualifications © e b .
C?’l;irman and Members of the Finance 10T (g) : G;ﬁ?ﬁ&% | el 1 fgfe wra &
Commission. Tregafa & &0 p
Reason (R) : Chairman and members are e I T 1 FErar @ 981 39 H =I5
~_-appointed by the President of India. AR |
Select the correct answer using the codes =
ilvzn i (a) (A) 3 (R) &1 & £ 3 (R), (A) 1 @&
odes :
i STEAT Al €
a) Both (A) and (R) are true and (R) 1s . '
( ) correct explanation of (A) . (b) (A) 3?.-{ (R) aqT m%, %ﬁ (R), (A) Eﬁ[
(b) Both (A) and {Rl) are 'true,fltzx)t (R) is Tl SATET e FTAT 2
not correct explanation o _%
() (A) is true, but (R) is false (c) (A) & #, fohg (R) TTed
(d) (A) Tera ®, TR (R) T &

Jd){4) is false, but (R) is true

149. Match List — I with List — II and select | 149. gefl — I =Y gt - 11 § gafera =i Fen gf=E

the correct answer using the codes given F 9 feu e & ¥ & I F1 TIH it |
below the lists.
List - I List — II o= I Tt - 1
(Scheme) (Year of Launch) (2T (T =)
A. g?nf?af?(g?; 122024 A. 3T 3TTeHT sfmT FisET 1. 2021
B. P.M. Aatmanirbhar 2. 2016 B. f.uw. Frenfit e 2. 2016
Swasthya Bharat Yojna YRd 1
C. Pradhan Mantri 3. 2007 (G 'g‘u'[:rqsﬁ' e mﬁ'}q 3. 2007
Jan Aarogya Yojna 5 )
D. Pradhan Mantri 4. 2018 D. STt Jea i A1 4. 2018
Suraksha Bima Yojna
T4
Codes :
A B C D A B c D
(@l 2B, (Q)EBIEE N I e ¢
ﬁ/ 4 Ftm BRA AN o
(d)giig € 3 1 4 2
i ()2 A S S o
50, Whe among thé follow: : :
B on N inn N ever Sgggeg 150, gw%rﬂaa 14 fore et ¥t vl T i
(a) Lala,Lapas Rai It oft stferee A sres T A 7
~Ib)y'Bal Gangadhar Pilak (2) ST SIST T :
(¢) Gopal Ktishna Gokhale v (b) /TS TR foreren
(d) Subhash'Chandra Bose (c) M= Fwor gt
(d) g1y 9 W
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